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GEOGRAPHY
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying

10.

two (2) marks. Attempt all of them.

Condensation of water vapour in the atmosphere on particles of dustleads to the :
(A) Fog (B)  Frost (© Hail (D) Cloud

Most of the salt in the sea water is derived from :
(A) Seafloors (B) Atmosphere (©  Remains of sea life (D)  Continents

The mechanism by which energy of solar origin is transported around the earth is :
(A)  Ocean waves (B) Winds (©  Oceantides (D) Tornado

The most abundant rock type in the earth’s crust is :
(A)  Metamorphic (B)  Secondary rocks

(© Igneous (D)  Sedimentary

The climatic conditions under which erosion is most rapid are :

(A)  hotand moist (B) coldand dry

(©  hotanddry (D)  cold and moist

Seifs are produced by :

(A)  gravity (B) winds ©  waves (D)  stream

Obsequent streams generally flow :
(A) along the consequent stream (B)  opposite to the consequent stream
(©  rightangle of the consequentstream (D)  diagonal to the stream

Idealise global pattern of surface wind from equator to polesis :
(A)  doldrum - trade wind - westerlies - easterlies
(B)  doldrum - trade wind - easterlies - westerlies
(©  doldrum - westerlies - trade wind - easterlies
(D)  doldrum - easterlies - trade wind - westerlies

Plants behave as Xerophyte at one season and as hydrophyte at another is known as :
(A)  Hetrotrophytes (B)  Tropophytes
(©  Omniphytes (D) Tropomniphytes

Atmospheric pressure at sea level :
(A) 1034 gram/cm? (B) 1024 gram/cm?
© 1014 gram/cm? (D) 1044 gram/cm?

D —8005 2
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

In open ocean the differences in height between high and low tide is :

(A)  1.0meter (B) 1.5meter ©  0.5meter

“Egypt is the gift of the Nile” was stated by :
(A)  Aristotle (B)  Seneca (©  Herodotus

Which one of the following is not a member of SAARC :
(A) Maldives (B) Bhutan (©  SriLanka

Bantus Tribe is found in :
(A)  Southern Africa (B)  Eastern Africa
(©  Africa North of Sahara (D)  Western Africa

Kinghiz Nomads are found in:
(A)  Sahara Desert Region (B) Cango Basin
(©  Central Asia (D)  Saudi Arabia

Which one of the following is a renewable resources :

A) Oil B) Land (© Coal

Indo-gangetic plain is fertile because it is covered by :
(A)  Salinelayer (B)  Volcanic debries
(©  Metamorphic rocks (D)  Transported alluvium

Which one of the following is not a woody plant :
(A) liana (B)  herb (©  shrub

Which state has the highest length of irrigation canal system :
@4 U.P. (B)  Rajasthan (©  Punjab

Which of the following is a push factor for international migration :
(A)  internal conflicts (B)  greaterfreedom
(©  higher wages abroad (D)  greater security

Development of human resources is necessary mainly because people can :
(A)  gethigher wages (B)  migrate for better jobs

(©  adoptsmall family norms (D)  develop the natural resources

D —8005 4
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16.
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22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Animal rearing on a commercial scale has developed well in :
(A)  Monsoon Regions (B)  Savanna Region
(©  Sahel Region (D)  Prairie and Steppe Region

Mongoloid race is predominently found in :
(A)  South Africa (B)  East Asia
(©  Western Europe (D)  East Africa

Which one of the following coal fields has been identified to have a high potential of commercial
exploitations of coal-bed methane gas ?

(A)  Jharia (B) Kanhan Valley (©  Talcher (D) Godavary Valley

What type of central tendency measure would you use to depict the growth of population in a
country ?

(A)  Arithmatic mean (B) Harmonic mean
(©  Geometric mean (D) Median

Where is the National Remote Sensing Agency (N.R.S.A) located.
(A)  Delhi (B)  Kolkata (©  Chennai (D) Hyderabad

Khasis are a major mongoloid tribe of :
(A) Manipur (B) Assam (© Meghalaya (D)  Orissa

Which one of the NE States has the lowest concentration of tribal population.
(A) Meghalaya B) Mizorom (C) Assam (D)  Arunachal Pradesh

Tea plantations have been developed in the:
(A)  equatorial regions (B)  tropical deciduous regions

(©  tropical grassland regions (D)  sub-tropical grassland regions

Sal and Teak are commonly found in:
(A)  equatorial forests (B)  monsoon forests

(©  mangrove forests (D) savanna

The major exporter of dates in the world is :
(A) Iran (B) Iraq (©  Turkey (D) Afghanistan

Tribal people practice shifting cultivation primarily because :
(A)  soil fertility gets reduced after a few years

(B)  theforest reestablish itself in a few years

(©  people prefer migratory life

(D) landis left fallow to regain its fertility

D —8005 6
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(B)  physical environment
(D) availability of capital

Match List-I with List -Il and select the correct answer from the codes given below :

Arrange the following major soil types in ascending order in terms of the thickness of A horizon in

List-1I
Marbut
Gilbert
Galton
Johnson

Fluvial
Consolidation

ii, i, iv, i

i, iv, i, ii

Match List-I with List -Il and select the correct answer from the codes given below :

List-1I

@) coral reef
(i) seaward flow
(i)
(

iv)  coastal uplift

swash

33.  Thedevelopment of resources in a region depends mainly on:
(A)  population density
(© needs and aspirations of the people
34.
List-1I
(@@ Anticyclone (@)
(b)  Baselevel of erosion (ii)
(©)  Pedocals and Pedalfers (iii)
(d) Basal sapping (iv)
Code:
@ ® © @
@ G @ 0w
® ) @) @ 0
© @ G 0 G
O i) @ ) 6
35.  Whichis irrelevant with the rock conglomerate ?
(A) Transportation (B)
(©  Metamorphism D)
36.
each of them:
i Alluvial soil
ii. Chestnut soil
iii. ~ Chernozem soil
iv.  Lateritesoil
Code:
(A i, i ii, v (B)
© i, i, i, iv D)
37.
List-1
(@)  Breaker
(b)  Ebbcurrent
(©)  Marine terrace
(d) Atoll
Code:
@ ® 9 @
@ @ @O @) @)
®) @) @@ ) @
© @ @ O @)
O @ @O v ()
D —-8005
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38.  Match List-I with List -Il and select the correct answer from the codes given below :

List-1 List-1I

(@  Isohaline @) Rainfall
(b) Isoval (i)  Salinity
()  Isohyte (iii)  velocity
(d) Isobar (iv)  Pressure
Code:

@ ® © @
@ O 4@ 3G W)
® @) @) @) @
© @ @ O )
O @ @) @) ()

39.  Match List-I with List -II and select the correct answer from the code given below :

List-1I List-1II
(@@ Lapis @) Avens
(b)  Sinkholes (i) Corrie
(0  Felsenmeer (iii) Bogaz
(d) Cirques (iv) Hydrofracturing
Code:

@ ® 9 @
@ 0 ) ) ()
® @ 0 ) )
© G O @ G
O G O ) (@)

40. Given below two statements, one lebelled as Assertion (A) and the other labelled as Reason (R).
Select your answer from the codes given below :

Assertion (A): Thelithosphere is distinguishes from the asthenosphere beneath it by a difference
in their behaviour under stress.

Reason (R) : The lithosphere is rigid where as the asthenosphere is capable of plastic flow.

Code:

(A) Both A and R are true and R is the correct explanation of A
(B)  Both A and R are true but R is not the correct explanation of A
(©  AistruebutRis false

(D) Adisfalse butRis true

D —8005 10
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41.  Given below two statements, one lebelled as Assertion (A) and the other labelled as Reason (R).
Select your answer from the codes given below :

Assertion (A): Most of the radical geographers have a very strong Marxist base.

Reason (R): Radical geographers have made great inroads into establishment of the discipline
of geography.

Code:

(A) Both A and R are true and R is the correct explanation of A
(B)  Both A and R are true but R is not the correct explanation of A
(©  AistruebutRis false

(D) Adisfalse butRis true

42.  Given below two statements, one lebelled as Assertion (A) and the other labelled as Reason (R).
Select your answer from the codes given below :
Assertion (A) : The temperature of the Stratosphere increases with altitude.
Reason (R): The Stratosphere is heated largely through the absorption by ozone molecules of
ultraviolet radiation from the Sun.
Code:
(A) Both A and R are true and R is the correct explanation of A
(B)  Both A and R are true but R is not the correct explanation of A
(©  AistruebutRisfalse
(D) Adisfalse butRis true

43.  The correct sequence if India’s non-conventional energy sources in respect of their potentiality :

@i  Solar (i)  Biofuel (i) Wind (iv)  Ocean Thermal
Code:
(A) il dv, ii B) i iiiii, iv © iiv,iiii (D) i, i, iv

44.  Match List-I with List -1l and select the correct answer from the codes given below :

List-1I List-1II
(Geographer) (Principle)
(@  Vidal dela Blache @) Unity in Diversity
(b)  Jean Brunches (i)  Social Determinism
()  CarlRitter (iii) Terrestrial Whole
(d)  Fried Ratzel (iv) Interaction
Code:

@ @® @@ @
(A) @) Q@) @) @)
® @) G @ (i)
© @) ) @ @
©) @) @ G W)

45.  Which one of the following oceans currents is called Gulf Stream of the Pacific ?
(A)  Oyashio (B) Kuroshio (C) Aleutian (D) Kurile

A stream is confined within a definite channel incised into the surface of the land, with a distinctive
pattern and cross-section, which varies from source to mouth and changes its form as the drainage
system develops. In order to introduce some defintiveness, a distinctive if somewhat obvious
terminology has been developed, mainly by civil engineers. The depth and width of the water
measured from bank to bank (the margin of the channel) are not always easy to specify, since unless
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the stream has been regularized for flood control, navigation or power production the cross-section
israrely a distinct rectangle; a mean depth is commonly used. Their relationship is expressed as the
form ratio, an expression derived from depth/width, as 1 : 50 where the width is 50m (150 ft), the
mean depth 1 m (3 ft). Sometimes the banks are clear-cut and well defined, at other places uneven
beds of sand and shingle may slope gradually from the water’s edge, which itself fluctuates. The
term wetted perimeter denotes the length from bank to bank of the section in contact with the stream,
and the cross-sectional area is, as its name would imply, the area of a cross- section of the water at any
particular point. Another relationship, important because it is a guide to the amount of friction
between the water and the channel, and therefore an indication of energy loss, is the hydraulic radius,
the cross-sectional area divided by the wetted perimeter. A low hydraulic radius, where a shallow
stream occupies a very wide channel, is the least efficient in energy terms.

The base-flow of a river is that portion of its volume contributed by ground-water inflow; this
fluctuates during the year with the general water-table, but will not occupy the entire channel. When
surface or overland-flow increases after rain or snow-melt, the depth will of course increase. When
it just occupies the entire channel, it is at bankfull stage, beyond which it may rise to the flood (or
overbank) stage, when it overspills the banks.

Read the above passage carefully and choose the correct answers to the following questions.

Under what circumstances the shape of a river channel will be geometric ?
(A)  When theriver takes a new course during a flood

(B)  When theriver rejuvenates

(©  When theriver water used for economic activities

(D)  When theriver is at a bankful stage

Depth-width ratio of a river channel determines :
(A)  Shape of a channel (B)  Form of achannel
(©  Structure of a channel (D)  Alltheabove

Wetted perimeter of a channel can be measured from :
(A)  Cross-sectional area and width of a channel
(B) Hydraulic radius and discharge

(©  Discharge and velocity

(D)  Cross-sectional area and hydraulic radius
How the base flow change ?
(A)  When theriver is at bankfull stage (B)  When surface flow increases

(©  When flood occurs (D)  When water-table changes

A channel flow is efficient, when :

(A)  theriver is with shallow depth (B)  thedischargeis moderate
(©  thevelocity is high (D)  both the velocity and discharge are high
-00o0-
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